Lirx= 5 (N normality) | FEfFs(eq)/HR I

C

> 180kt 2 5FaFe] o/ nt
> SFEFS Y = (98.08g/mol)/(2eq/mol)
= 49.04 g/eq
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CHak(eq) = 2 x BEAFSH U2 of 80| 4
() HCI > EFTH H 18 > 155
H,80, > W+ T H H 2& > 2 &f&f
oFEF 2 Hl (equivalent weight)
s HI1Es Hese 224 FH((AH)

(N ma gagmsy = 22 ﬂ(eqﬁﬁﬂ%m”

:@]rﬁ]"ﬂ Fso. (&/mol)
2 (eg/mol)
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(a) NH;, (b) H,C,0,(NaOH®} ¥F-g-), (c) KMnO, [Mn(VI)°] M°* 2 2¢]]
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(a) NH;, (b) H,C,0,(NaOH®} ¥Fg-), (c) KMnO, [Mn(VI)e] M’ 2 2]

£0|
NH; g/mol  17.03
U — —
(@) BFFA = L edimol —1 = 1703 gleq
H,C,04 g/imol  90.04
U = — =
(b) & ZFFA = 2 eg/mol 2 45.02 gleq

(c) MnZ +70A +22 oAl 7he] HAF W3t ok (A e” = FAIRH)

MnO,” + 8H" + 5¢~ = Mn’" + 4H,0

_ KMnO, g/mol _ 158.04
5 eq/mol 5

= 31.608 gleq
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_ g ) _ mg
U= g e 1T FEHEI| (mgmeq)

v € _ g/ FHFTFA (g/eq) voe mg/ 3 F Al (mg/meq)

L L mlL mL

Gk = 9 X n(eg/mol)
N (eq/L) = M (mol/L) X n (eq/mol)
R A (g/eq) = 3} 8}2] & (g/mol)

7 (eq/mol)
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() 5.300 gL Na,CO; (CO;™ 7} 5 749 4 o] &3} whe-& uf)
(b) 5.267 gL K,(1,0; (Cro] Cr* 2 ELH AT

N(eqg/L) = M(mol/L) x n(eq/mol)

\%/L X %/gi B\ n(eq/N)
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(a) COs* 7} 2H* 9} wk-2-3le] H,COy7} E uf, m

Fa i W W 2

N =5.300g/L x 1Tmol/105. 99gNa2CO3 X 2eq/mol
11UJ.??IL} Efﬂi

(b) Z}ze] Cr(Vl)o] Cr™ & et A4 W= 6e /KCr,0; FAbo]t.
Cr,0% + 14H' + 66~ = 2Cr + 7TH,0

v 5267 gL

= 01074 eq/L

(294.19/6) gleq
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0212 g¢] Na,CO.E =5 100 mLE 53 g4t &5 8942 =Y. o=
7t 9ol wUFEE AN L. (@) D7 G712 AHEE W, ) ol7ha
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0212 go] Na,COE =< 100 mLE F3] it 4oF &9 et o+
4 B9 =2REFEE ALSFAIL. @ 471t G712 A2 9, () o]7HE
712 ALgE o).

£0|
_ Mgnacod/ NapCOy/1) 212 mg/ (106.0/1 mg/meq)

(a) N= -3 — 100 L. = 0.0200 meq/mL
_ Mgnaco/ NaCO5/2) 212 mg/(106.072 mg/meq)

(b) N= g = 100 il = 0.0400 meg/mL

N=212mg/100mL x 1mmol/106.0mgNa,CO; x Tmeq/mmol
N=212mg/100mL x Tmmol/106.0mgNa,CO; x 2meq/mmol
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olo] U (I,) & A9} wHg-3lo] olo] e Tld} o] (1) S 2 FE &= 4ts)
Alo|th. 0100 N L, €9 100 mLE FH|alel® 2 239 L7} YR}

E'Dl
BAE V9 AAS 2050, BE WAL e} Bt

Ig+23_—"21_

0.TOON = ?mg/100mL x Tmmol/254mgl, x 2meq/mmol
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2o o] RS 2, W wede thet it

L + e — 2
SR shera g 100]ck
apeyy — A (o)

T 2 (eg/mol)
8y, mglz
N X mL = meq = = =
FHEA  Fsh g2
0.100 100 mL = —— 2
100 meg/mlL. X mb = Zem ofmeq

mg; = 0.100 meqg/mL X 100 mL X (254/2 mg/meq) = 1270 mg

18R g 127 go] g Q3




